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BUTEX Admission Test 2004-2005 -
' a

01. I ax*+bx +c =0 FAFTE T 767 WFoNe 4 : 3 7 O o748 @, 12b° = 49ac. !
TYE: ax“+bx + ¢ = 0, e 4o, 3o :

b |
Soda+3a =— = SB0)B)=S  o12a2=2 |
d 1 a |
b b 2
> T7Toa=—-— . o=—- — —s 12[-&) _° —=12b*=49ac. (Showed)
B Ta 7a a '
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02. (;»;3_5] ag s x!! a7 sz i v

5
X

L _

2

AAYIA: [xj—ij fgfers «fF, (r+ 1) S om x'' w3 wzet Rt

X
_ = 5Y E _
- (I"'i"' 1) oF A7 lZGI(XB)IZ l'[_ _x_z] =12crx35—31‘(_5)rx 2r :12{:1-1(36 51'(_5)1‘
soxll o x36-5r 36—-11 _s

5
x'' aw o, Peg(-5)° =—'%¢, 5° =—2475000 (Ans.)
03. 7 O E1ItF9 GFI0 Wea aQuedd & 25 1S sty uaiore s=ike 7 & 8 weabre gqfis 4 &« e 2l | %

TEib O A G FA0T A7
FANTYI: FGIRT SN IR 3
*ITST- IS
7 0
6 1
5 2
4 3
3 4

g & =" C,+' Co+' Co+' C,+' C,=99  (Ans.)

04. k-8 MTIFo A Sx +4y — 1 =093 2x +ky — 7 = 0 @1 3o <11 21 |
5 1

W:SK+4}’—I=U:>Y=—EK+E ................ (1)
= _ 2T i
2x+ky-7=0= y= 1{:Af.-f-1{.............(11)
5 2 8
. ‘o 2o f =S ‘
(i) and (ii)) = 1% = - (Ans.)
05. 93f6 “red Tead [y T I 7 (4,-3) e w=_iEe | Tiafhs s o 4 a9 ol x-sows

AT |
THIYA: Y0 TAFAT 3 (y + 3)° = 4a (x — 4)
~da=4 =a=1 . (y+3)’=4(x-4) =y +6y—4x+25=0 (Ans.)




. BUTEXemames g & f
| A

06. CotBcotC+cotCcotA +cotAcotB =1 7, A, B a3t C g7 S04y 35791 Il 97 |
SIYE: cotB cotC + cotC cotA + cotA cotB = 1
= CotB cotC + cotC cotA + cotA cotB — 1 =0 = cotC (cotB + cotA) + cotAcotB—-1=0
cotAcotB-]
CotA +cotB
= A+B=n-C .~ A+B+C=nx (Ans)
-

07. wewe frfraws (i) y=In{e" K—IJEF (i) y = tan! L7 CO5X
X +1 1+ cosx

= cotC +

=0= cotC+cot(A+B)=0 = cot (A + B)=— cotC =cot (n — C)

S

TNYE: (1) y=1In e“[xh]]z =x+§1n x—~1] =x+éln(x—1)—§ln(x+l)
X+1 2 \x+1 2 2

3 1 3
ﬂ= — _2 (Ans.)
dx  2(x-1) 2(x+1)
.. 2K
. —1 {1—cosx | 250" —
(ii) y =tan™ = tan "~ = =tan"[tan£] =X & _1 (Ans.)
l1+cosx \zmszi 2 2 dxi2

Tt 1 -1
08. WARF=s(i) [VI+cosxdx (if) [ =2
0 0

ot

W:J'x/l—i-cnsx dx =I\/2 cnszg-dx =2 Icus%dx = Zﬁ[sing]“ =22 [sin;-sinﬁ:\ =22
0 0 0

0

e - 1"
(11) Lﬁ.‘t,COS l}{=lll; x =0 TH, II]=E - — . dx=dm: x=1TF, m=0 — dx — —dm

Vv1-x2 J1-x2
o L b 1 ]eg B, 7
i P -mdm-——g[m ]THE__E 0 _TJ_?(ADS.)
09.* 4 & St=a a8 6 fibia By 2re Afee 2 Imm Sty 5 @1, W, ot I fom =0 oive | 38T oig i
¥C 4 “ifaa el =)
st v: =u’+2gh= v=+2x9.8x6 m/s =10.84m/s
2
FMIE 8 T4 v12=v2—2a5 —> a= (10'84) =1176 m/s?
2x0.05
4 4
TE 44l = = =474 N _
. F +F, 1000x9.8+1000x(1176) (Ans.)
mg(h + x)
qdl, mg(h+x)=Px= P=
X
_dg(m+3em) _ 494N (Ans)
dcm




10. a6 e cratea Smor e S q@[a x Ay G R e 45° @ a3t @ Fewe w9 =6 | S7 (e

o= St faw over a oiter s stief y e e Wibte et | ordne @, cramafoe Swer XY )

X+y

T R=X+y; a=45"
‘ﬁ‘ﬁ.w =h

ORI, 11=Elﬂnu[1—ijzbll=xtm145° (1-— X ]
R X+Yy

X+ Yy X+y

o R R

:h:x[““"xj s h=—Y_ (Showed)

239 |
s A =21 +j— kB =31—2j+4k C=1- 3] +5k
2 1 -1
TOIF, |3 2 4 |=2(-10+12)-(15-4)-1(-9+2) =4-1117=0
1 -3 5

. (SEAad TS | (T =27)

12. =6 10m =1=1 92 @Il A 60° ¢@ivet At =itg | 80 kg ©tag 9F Iie 20 kg S@g @R @ 10 sec-9
BIq SLF | O THS! $97
I

gover W=mgh
=mgcos60°xh
=(80+20)x9.8x-%x]0 = 4900N

coP= T = 4930 =490 watt (Ans.)

mgcos 60° mgsin 60°

mg

13.* I 324 +eba cFaeer 0.1m” | 9@ 1000 K Sivimiam See war 20, aft 1 w5/ & sAfmmt =i fife
T aefEe ffEad #= e 0.7 16= 5.7 x 107 Wm™K™
sy E=Ae oT'=0.1 x0.7 % 5.7 x 107 x 1000%= 3990 Js

. E=(3990 x 3600) J = 14.36 x 10°J/hr (Ans.)
14.* m S@EF G35 AR ¢ @3 AR INT (RITH 27 | MR EFlT 9R 9947 A0 @« 6717 Ay 7 g o

FAECT 500 m/sec @3 300 m/sec. JETAT A 40% s Sret st st Trang 4w o wromtar 3
9 | (3 wieeifEs ot 5 0,031 keal/kg®C, 1kcal/kg°C = 4184J/kg°C)

FATYI: TR Af$E x 40% = mSAO= %m(v,z —vi)x 40% = m SA0

1 (5007 =3007)x 0.4
= AQ = 2 =246.72°C (Ans.)

0.031x4184

R | |




- \

(1) >
J/'f]_lx 01 _
1 1 :_7&{ 1
—— — u2 uj
u, 0.1 = =0.2m _‘5&0.2 -[

3u2+u2 0.15
Sy =uw=02 -0.1=0.Im (Ans.)

16. M @30 MOTT 936 I =11t Tre Tty = ©w G 3em @R G2 T = @ 330 ms™! T @
ARG I *=TMT 550 o5 Tt 19 v vz 112

STYA: S = NA = 55x T;_o ~1.65m (Ans)

18. 3 tIpfes RfETs 220 volt ¥z 1200 watt 1t SR | 97 @Y F7 T Afs Ref6 fage == =7 1.00
Tl T OIZLeT 2fHD 2 51 BIAIeT T Uq5 AGI?2
V? 220)?
JaryE: P = = ﬁ’R:(lzogJ =40.33Q (Ans.)
IS &, W=Pt=1200 x 2=2400=24kWh .. #a6=24x1=24taka (Ans.)
19. 1m’ cvamer [fER @b o qafb S e CFee At 207 | BTRe CF e W 4x107°T 93 19 1 8x10°°
Wb (e O 8 BT CFEd 047 (Y I 77 9 |

TgE: @ = AB cosO = cosb = E(pB_

. ~1<6
[ 8x10 & g
=> 0 =cos T =78.46 \ =
XaG X =
| — §

0, =(90-78.46) =11.54°

20. GoTTE W4T 3.82 i | EOCE (SEET FIET AT IO GqR FOOR F @OEE AT e —— e
Fofaafe® AHPR?

0.693 0.693 0.693
g T, =——— =2 A=——=—""""=(.1814 ~1
Agaiﬂ, N =NDE—M = __N__ — E—-lt — _1__ — E*—U.lgldt N =PI_':' N N _ 1
N, 20 20 N, 20

1
=In—-=-0.1814t Ine = -1n20=1(-0.1814) =t=16.5days (Ans.




21.

22.

23.

25.

26.

27.

28.

29,

SN, b 8 i
e | &

100°C ¥== 1.0526 atm w1Tot CO, e Iy 97

st PV < & RT :}E_:P_I\E:}p= 1.0526x44 _ o/L
M V RT 0.082x373
| TR 200 cm’ &3t e o e Aebres e am a2 (F) HoSOs () NayCOs

SRARI: (TR GO FLSalgoi,

200 CII‘IE IM B9 H,S0,4 qGreg «ifasr 981:;;[?0 = 196gm

200 cm® 1M AT NayCO3; 9F #ifasier lﬂf:[]:;}ﬂﬂ =21.2gm

G Qs el seee ¢ armfRe am R e (@) AR () ES () @EsE
A (F) N2O (2GR w9H1%E) () Fe,05.3H,0 (14 R wraiize)

(1) Al,O4 (Wﬁﬁﬁmﬁwm@)
160 cm’ 0.5M HeFER Wfie Faece efirs T30 ¥ o NaOH &tarss?

ANY: Hp_SO;.; + 2NaOH — Na>SO4 + 2H,O .. 1 mol H>SO4=2 x 4ﬂgﬂl NaOH

160cm® 0.5M H,SO, = 2x 4;:};01060; 03 _ 6.4gm NaOH (Ans.)
X

40 cc, 0.5 (N) HCI; 30 cc 1(M) H,SO, @32 120 cc 0.1(M) HNO; & wt Rt wata e yufites
Al FEuifEre vo T2

A AT S, TN = EenafE x wey e

5 40x0.5+30x1x2+120x0.1x1=Nx190 = fiffe affregartz =mifa®, N=0.484N (Ans.)

e el e «ieg Siaea Afgra se e s
(¥) [Co(NH3)s Br] Cl, (%) K;3[Fe(CN)s] (1) [Cr(NH3)4Cl;] Cl
AIY: (F) (FFAT (IO AT e 724t = 6 (Co)
(¥) G 4o TRAET A AT = 6 (Fe)
(1) CPFaF WreT ST Al 7T = 6 (Cr)
509 itfre CO, Bt Tt & 962 Rtz ford |
STATYH: BT Al ca1els x@ AT |1 Ca(OH); (aq) + CO; (g) — CaCOsd(s)+H,0 (£)
fror ctefee RREeReem 8 WA @ @I s (F) NH;  (}) H,O0 (1) CH, = CH,
syt (F) SPa, 107° (X) SP3, 104.5° (o) SP,, 120°
e MR STereEree Sy QTET FIGINrE S 39 3
() TR —6,6 () BT (o) TEUERGRITT @
wrdE: (F) Wifefie uffe HOOC—(CH,)s — COOH
3R EHFERAER e H,N—(CH;)s — NHy)
() to fe-wiadiy afire @ Ti3zaia SEee |
(*F) Byt @ FEmRe (HoN — CO — NH,) / et @ cewer
(ZTRAT TAAERIRG @/ TNy 3e @fem)




30. WWWWWWWWWE

(F) 215 ¢ Creqrenier () TR ¢ TierREA (7)) siEfee uFe « forafae affe

() LI e FRE () n-CoATIT S WZGT @I (5) QEINiRG @ spRBfeie |
FAY: (F) 3006 29 o —D YL AfFme 7€ Crepres = B — D 430 =R |

() T ST foqae ' SBBIRATT FRA-F Fga R |

(1) TRl Uit e e @ Prefie ute crrEe e |

(%) FITet — CHO Toi 8 FTIce — CO Fois Ryiey |

(%) n — (AT T SIS =R @ SZCT @I =R T ot Ry |

(P) GTEITIRCST 4o+ Bifere | 37 @SR GPTea Sies | SRBIREAZS 2w T 3k 37 SiFibe afFites aee |

31. Correct the Following sentences:
(2) I want you reply immediately
Ans : I want your immediate reply./ I want you to reply immediately.

(b) He pride on his wealth

Ans : He prides himself on his wealth. Or, He is proud of his wealth.

(c) I must take your leave. Ans : [ must accept your leave.

(d) She cut of her hair. Ans : She got her hair cut.

(¢) I came to know by and by. Ans : | came to know by the by.
32. Write the differntiating meanings in the Bengali:

(a) Council #ifszm Counsel ==

(b) Dose it Doze R

(c) Eligible @13 Illegible I 1St IRT =

(d) Staff F1Hg™ Stuff Tom=

(e) Waste 8 <, @Il Waist (M
33. Write sentences witirtlle following phrases:

(a) Give up : Give up your bad habit.
(b) Go through : I have gone through the book.
(c) Come across : I came across an old friend yesterday.

(d) Keep away from : Keep away from the bad addictions.
(c) Get away with : The boy got away with the ring.

34. Translate into English:
(2) 7 5 ST @RI 92 fcafee? Ans : Did he give me a book?

(b) SR ST feq-59diet oI | Ans : Three-fourths of our population are poor.
(c) 4AT 7 T A 7 | Ans : The rich are not always happy.

(d) FSf ST B T T | Ans : He rules with an iron hand.

(€) GT SZo[ e 9o g wiR | Ans : He couldn’t come because of his illness.




